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NEW QUESTION 1

Which three items do you recommend for control plane hardening of an infrastructure device? (Choose three.)

A. redundant AAA servers

B. Control Plane Policing

C. warning banners

D. to enable unused .services

E. SNMPv3

F. routing protocol authentication

Answer: BEF

NEW QUESTION 2

Which SDN architecture component is used by the application layer to communicate with the control plane layer to provide instructions about the resources

required by applications?

A. southbound APIs
B. northbound APIs
C. orchestration layer
D. SDN controller

Answer: B

NEW QUESTION 3
Which two features are advantages of SD-WAN compared to MPLS-based connectivity? (Choose two.)

A. uses FEC constructs for traffic forwarding, thereby improving efficiency
B. separates infrastructure and policy

C. uses policy-based forwarding of real-time traffic with less complexity
D. unifies the WAN backbone

E. manages failures through backup links

Answer: CD

NEW QUESTION 4
Which two statements describe the hierarchical LAN design model? (Choose two)

A. It is a well-understood architecture that provides scalability

B. It is the best design for modern data centers

C. Itis the most optimal design but is highly complex

D. It provides a simplified design

E. Changes, upgrades, and new services can be introduced in a controlled and stagged manner

Answer: AE

NEW QUESTION 5

Company XYZ is in the process of identifying which transport mechanism(s) to use as their WAN technology. Their main two requirements are.

« a technology that could offer DPI, SLA, secure tunnels, privacy, QoS, scalability, reliability, and ease of management

« a technology that is cost-effective
Which WAN technology(ies) should be included in the design of company XYZ?

A. Software-defined WAN should be the preferred choice because it complements both technologies, covers all the required features, and it is the most cost-

effective solution.

B. Internet should be the preferred option because it is cost effective and supports BFD, IP SL
C. and IPsec for secure transport over the public Internet.

D. Both technologies should be use

E. Each should be used to back up the other one; where the primary links are MPLS, the internet should be used as a backup link with IPsec (and vice versa).

F. MPLS meets all these requirements and it is more reliable than using the Interne
G. It is widely used with defined best practices and an industry standard.

Answer: A

NEW QUESTION 6

Drag and drop the FCAPS network management reference models from the left onto the correct definitions on the right.
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Fault Management ensures that nebwork transit quality remains at acceptable levels
Configuration Management gathers usage statistics for users and business units
Accounting Management gathers and stores configuration code from network devices

recognizes, isolates, corrects, and logs events that occur in the

Performance Management natwork

Security Management controls access to assets In the network

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Fault Management = Recognize, isolates, corrects, and logs events that occur in the network

Configuration Management = Gathers and stores configration code from network devices
Performance Management= ensures that network transit quality remains at acceptable laevels
Security Management= Controls access to assets in the network

Accounting Management= gathers usage statistics for users and business untts|

NEW QUESTION 7
Company XYZ has a new network based on IPv6. Some of the subnets that they are planning to use will be confidential and need an addressing scheme that
confines them to the local campus network. Which type of IPv6 addresses can be used for these networks in the IPv6 addressing design?

A. local addresses

B. private addresses

C. link-local addresses

D. unique local addresses

Answer: D

NEW QUESTION 8
What is a disadvantage of the traditional three-tier architecture model when east west traffic between different pods must go through the distribution and core
layers?

A. low bandwidth
B. securityC scalability
C. high latency

Answer: A

NEW QUESTION 9
What best describes the difference between Automation and Orchestration?

A. Automation refers to an automatic process for completing a single task and Orchestration refers to assembling and coordinating a set of tasks and conditions.
B. Automation describes a hands-off configuration process while Orchestration refers to sets of automation tasks that require the network administrator to
coordinate

C. Automation refers to an automatic process for completing multiple tasks with conditions and Orchestration refers to executing tasks in parallel.

D. Automation refers to scripting languages (Pytho

E. Ansible etc.) and Orchestration refers to commercial products that control configuration deployment

Answer: A

NEW QUESTION 10

Which technology supports antispoofing and does not have any impact on encryption performance regardless of packet size?
A. MACsec

B. IP source guard
C. DHCP snooping with DAI

The Leader of IT Certification visit - https://www.certleader.com



CertLeader@ 100% Valid and Newest Version 400-007 Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/400-007-dumps.html (267 Q&AS)

D. IPsec

Answer: A

NEW QUESTION 10

An engineer is designing the QoS strategy for Company XYZ. Based on initial analysis, a lot of scavenger type of traffic is traversing the network’'s 20Mb Internet
link toward the service provider. The new designh must use a QoS technique that limits scavenger traffic to 2 Mbps, which helps avoid oversubscription of the link
during times of congestion. Which QoS technique can be used to facilitate this requirement?

A. class-based traffic policing
B. LLQ

C. CBWFQ

D. class-based traffic shaping

Answer: C

NEW QUESTION 13

Identity and access management between multiple users and multiple applications has become a mandatory requirement for Company XYZ to fight against ever
increasing cybersecurity threats. To achieve this, federated identity services have been deployed in the Company XYZ network to provide single sign-on and Multi-
Factor Authentication for the applications and services. Which protocol can be used by Company XYZ to provide authentication and authorization services?

A. OAuth2

B. OpenID Connect
C. OpenID

D. SAML2.0

Answer: D

NEW QUESTION 15
Sometimes SDN leverages various overlay networking technologies to create layer(s) of network abstraction. What describes an overlay network?

A. It transmits packets that traverse over network devices like switches and routers

B. It encapsulates packets at source and destination, which incurs additional overhead

C. Packet delivery and reliability occurs at Layer 3 and Layer 4

D. It is responsible for the delivery of packets; NAT- or VRF-based segregation is required

Answer: B

NEW QUESTION 20
Which feature must be part of the network design to wait a predetermined amount of time before notifying the routing protocol of a change in the path in the
network?

A. Transmit delay

B. Throttle timer

C. SPF hold time

D. Interface dampening

Answer: B

NEW QUESTION 23
A healthcare customer requested that SNMP traps must be sent over the MPLS Layer 3 VPN service. Which protocol must be enabled?

A. SNMPv3

B. Syslog

C. Syslog TLS
D. SNMPv2
E. SSH

Answer: A

NEW QUESTION 27
Which Interconnectivity method offers the fastest convergence in the event of a unidirectional issue between three Layer 3 switches connected together with
routed links in the same rack in a data center?

A. Copper Ethernet connectivity with BFD enabled
B. Copper Ethernet connectivity with UDLD enabled
C. Fiber Ethernet connectivity with BFD enabled

D. Fiber Ethernet connectivity with UDLD enabled

Answer: C

NEW QUESTION 28
A small organization of 20 employees is looking to deliver a network design service for modernizing customer networks to support advanced solutions.

> Project scope and weekly progress should be visualized by the management.
> Always consider feedback and make changes accordingly during the project.
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> Should consider flexibility to change scope at the point of time.
Which project methodology meets the requirements and have the least impact on the outcome?

A. Scrum

B. LEAN

C. Kanban
D. Six-Sigma

Answer: A

Explanation:
https://firebrand.training/uk/blog/scrum-vs-six-sigma-which-one-is-right-for-you

NEW QUESTION 33
Company ABC uses IPv4-only. Recently they started deploying new endpoint devices. For operational reasons, IPv6 cannot be disabled on these new endpoint
devices. Which security measure prevents the new endpoint from learning an IPv6 prefix from an attacker?

A. Source Guard and Prefix Guard
B. Router Advertisement Guard

C. Prefix Guard

D. Secure Neighbor Discovery

Answer: B

NEW QUESTION 37
You have been tasked with designing a data center interconnect to provide business continuity You want to encrypt the traffic over the DCI using IEEE 802 1AE
MACsec to prevent the deployment of any firewall or IPS. Which two interconnect technologies support MACsec? (Choose two.)

A. EOMPLS

B. MPLS Layer 3 VPN
C. DMVPN

D. GET VPN

E. KVPLS

Answer: AE

NEW QUESTION 42

An international media provider is an early adopter of Docker and micro services and is using an open-source homegrown container orchestration system. A few
years ago, they migrated from on-premises data centers to the cloud Now they are faced with challenges related to management of the deployed services with
their current homegrown orchestration system.

Which platform is well-suited as a state-aware orchestration system?

A. Puppet

B. Kubemetes
C. Ansible

D. Terraform

Answer: B

NEW QUESTION 45
A network security team uses a purpose-built tool to actively monitor the campus network, applications, and user activity. The team also analyzes enterprise
telemetry data from IPFIX data records that are received from devices in the campus network. Which action can be taken based on the augmented data?

A. reduction in time to detect and respond to threats

B. integration with an incident response plan

C. adoption and improvement of threat-detection response
D. asset identification and grouping decisions

Answer: A

NEW QUESTION 47
What is an architectural framework created by ETSI that defines standards to decouple network functions from proprietary hardware-based appliances and have
them run in software on standard x86 servers?

A. NFVIS
B. NFV
C. VNF

Answer: C

NEW QUESTION 50

What are two advantages of controller-based networks versus traditional networks? (Choose two.)
A. the ability to have forwarding tables at each device

B. more flexible configuration per device
C. more consistent device configuration
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D. programmatic APIs that are available per device
E. the ability to configure the features for the network rather than per device

Answer: CE

NEW QUESTION 52
Which two protocols are used bv SDN controllers to communicate with switches and routers? (Choose two )

A. OpenFlash

B. OpenFlow

C. NetFlash

D. Open vSwitch Database
E. NetFlow

Answer: BD

NEW QUESTION 57
An external edge router provides connectivity from a service provider to an enterprise Which two Internet edge best practices meet compliance regulations'?
(Choose two )

A. Implement filtenng to control traffic that is sourced from the infrastructure IP space.

B. Enable and use only secure protocols.

C. Send logs to a centralized logging collection server.

D. Implement EBGP to advertise all owned IP blocks.

E. Use login banners and interface access lists to restrict administrative access to the system

Answer: BE

NEW QUESTION 60
Company XYZ network runs IPv4 and IPv6 and they want to Introduce a multidomain, multicast-based network. The new design should use a flavor of PIM that
forwards traffic using SPT. Which technology meets this requirement?

A. PIM-DM
B. PIM-SM
C. PIM-SSM
D. BIDIR-PIM

Answer: C

NEW QUESTION 64
What is a web-based model in which a third-party provider hosts applications that are available to customers over the Internet?

A. PaaS
B. SaaS
C. laaS

D. WaaS

Answer: B

NEW QUESTION 67

A network security team observes phishing attacks on a user machine from a remote location. The organization has a policy of saving confidential data on two
different systems using different types of authentication. What is the next step to control such events after the security team verifies all users in Zero Trust
modeling?

A. Enforce risk-based and adaptive access policies.

B. Assess real-time security health of devices.

C. Apply a context-based network access control policy for users.
D. Ensure trustworthiness of devices.

Answer: B

NEW QUESTION 71

Company XYZ uses an office model where the employees can use any open desk and plug their laptops in. They want to authenticate the end users using their
domain username and password before allowing them access to the network. The design must also accommaodate the ability of controlling traffic within the same
group or subnet if a macro (or micro) segmentation-based model is adopted in the future. Which protocol can be recommended for this design to authenticate end
users?

A. LDAP

B. EAP

C. TACACS+
D. RADIUS

Answer: D

Explanation:
https://www.networkstraining.com/what-is-cisco-ise/
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NEW QUESTION 76
Company XYZ is revisiting the security design for their data center because they now have a requirement to control traffic within a subnet and implement deep

packet inspection Which technology meets the updated requirements and can be incorporated into the design?

A. routed firewall

B. VLAN ACLs on the switch

C. transparent firewall

D. zone-based firewall on the Layer 3 device

Answer: C

NEW QUESTION 80
Drag and drop the end-to-end network virtualization elements from the left onto the correct network areas on the right.

Edge Contral
MNetwork Functons Virtualzastion (NFV)
opton A
IP Tunnelng ;
opton B
VRF -
Transport Virtualization
opticn A
MFLS + MP-BGP
pphion B
VLAN
Service Virtuzlization
Service Contamers aption A
opion B

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Graphical user interface Description automatically generated with medium confidence

NEW QUESTION 85
Which two statements describe the usage of the IS-IS overload bit technique? (Choose two )

A. If overload-bit is set on a Level 2 intermediate system, the other Level 2 intermediate systems in thetopology will stop using the overloaded IS to forward Level 2
traffic However, the intermediate system can still forward Level 1 traffic

B. It can be set in intermediate systems (1S-1S routers) to prioritize control plane CSNP packets.

C. It can be used to automatically synchronize the link-state database between Level 1 intermediate systems

D. It can be set in intermediate systems (IS-IS routers) to avoid traffic black holes until routing protocols are fully converged after a reload operation.

E. It can be set in intermediate systems (IS-1S routers) to attract transit traffic from other intermediate systems

Answer: AD

NEW QUESTION 90
A business invests in SDN and develops its own SDN controller that, due to budget constraints, runs on a single controller. The controller actively places an
exclusive lock on the configuration of the devices to ensure it is the only source of changes to the environment. What is the result if the controller fails?

A. All device configurations are in read-only mode until the controller is restored.
B. The control plane is unavailable until the controller is restored.

C. If a device fails, the configuration backup is unavailable

D. Manual changes are only possible until the controller is restored

Answer: B

NEW QUESTION 93
Which two actions ensure voice quality in a branch location with a low-speed, high-latency WAN connection? (Choose two.)

A. Increase WAN bandwidth

B. Increase memory branch switch.

C. Fragment data packets.

D. Replace any electrical links with optical links
E. Prioritize voice packets
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Answer: CE

NEW QUESTION 96
A network architect must redesign a service provider edge, where multiservice and multitenant PEs are currently present. Which design feature should be
minimized in the new design to achieve reliability?

A. bridging

B. fate sharing

C. redundancy

D. unicast overlay routing

Answer: B

NEW QUESTION 97
Which two application requirements are mandatory tor traffic to receive proper treatment when placed in the priority queue? (Choose two.)

A. small transactions (HTTP-like behavior)
B. WRED drop treatment

C. tolerance to packet loss

D. intolerance to jitter

E. TCP-based application

Answer: AD

NEW QUESTION 102
A customer migrates from a traditional Layer 2 data center network into a new SDN-based. spine-and-leaf VXLAN EVPN data center within the same location. The
networks are joined to enable host migration at Layer 2 Which activity should be completed each time a legacy network is migrated?

A. The migrated VLAN should be pruned from the Layer 2 interconnects.

B. The migrated network should have a VXLAN VNID configured within the new network.
C. The migrated network should be advertised to the EVPN network as a Type 2 network.
D. The migrated network should be added to the EVPN BGP routing.

Answer: C

NEW QUESTION 103
Which function is performed at the access layer of the three-layer hierarchical network design model?

A. fault isolation

B. QoS classification and marking boundary
C. reliability

D. fast transport

E. redundancy and load balancing

Answer: B

NEW QUESTION 105
Organizations that embrace Zero Trust initiatives ranging from business policies to technology infrastructure can reap business and security benefits. Which two
domains should be covered under Zero Trust initiatives? (Choose two)

A. workload

B. work domain
C. workplace
D. workgroup
E. workspace

Answer: AC

NEW QUESTION 106

A service provider hires you to design its new managed CE offering to meet these requirements

» The CEs cannot run a routing protocol with the PE

* Provide the ability for equal or unequal ingress load balancing in dual-homed CE scenarios.

* Provide support for IPv6 customer routes

« Scale up to 250.000 CE devices per customer.

* Provide low operational management to scale customer growth.

« Utilize low-end (inexpensive) routing platforms for CE functionality. Which tunneling technology do you recommend?

A. FlexVPN

B. point-to-point GRE
C. DMVPN

D. LISP

Answer: D

NEW QUESTION 111
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Company XYZ is redesigning their QoS policy. Some of the applications used by the company are real-time applications. The QoS design must give these
applications preference in terms of transmission. Which QoS strategy can be used to fulfill the requirement?

A. weighted fair queuing

B. weighted random early detection
C. low-latency queuing

D. first-in first-out

Answer: C

NEW QUESTION 112
You are tasked to design a QoS policy for a service provider so they can include it in the design of their MPLS core network If the design must support an MPLS
network with six classes, and CEs will be managed by the service provider, which QoS policy should be recommended?

A. map IP CoS bits into the IP Precedence field
B. map flow-label bits into the Exp field

C. map IP precedence bits into the DSCP field
D. map DSCP bits into the Exp field

Answer: D

NEW QUESTION 115
An existing wireless network was designed to support data traffic only. You must now install context Aware services for location tracking changes must be applied
to the existing wireless network to increase the location accuracy? (Chose two)

A. Add access points along the perimeter of the coverage area.

B. Increase the access point density to create an average inter-access point distance of less than 40 feet or 12.2 meters

C. Use directional antennas to provide more cell overlapping

D. Install additional access points in monitor mode where the co-channel interference would otherwise be affected

E. Fine tune the radio configuration of the access point to have a higher average transmission power to achieve better coverage

Answer: BE

NEW QUESTION 117

You want to mitigate failures that are caused by STP loops that occur before UDLD detects the failure or that are caused by a device that is no longer sending
BPDUs. Which mechanism do you use along with UDLD?

A. Root guard

B. BPDU guard

C. Loop guard

D. BPDU filtering

Answer: C

NEW QUESTION 122
Drag and drop the optical technology design characteristics on the left to the correct optical technologies on the right. Not all options are used

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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1-target 4
2 - target 5
3 -target 1
4 - target 6
5 - target 2
6 - target 3

NEW QUESTION 124
Company XYZ must design a strategy to protect their routers from DoS attacks, such as traffic destined to the router's own route processor, using separate control
plane categories. Which two capabilities can be used to achieve this requirement? (Choose two.)

A. Control Plane Protection using queue thresholding on the transit subinterface
B. Control Plane Protection using port filtering on the transit subinterface

C. Control Plane Protection using port filtering on the main interface

D. Control Plane Protection using queue thresholding on the host subinterface
E. Control Plane Protection using port filtering on the host subinterface

Answer: DE

NEW QUESTION 125
You are designing the routing design for two merging companies that have overlapping IP address space. Which of these must you consider when developing the
routing and NAT design?

A. Local to global NAT translation is done after routing

B. Global to local NAT translation is done before routing.

C. Local to global NAT translation is done before policy-based routing
D. Global to local NAT translation is done after policy-based routing.

Answer: B

NEW QUESTION 126
Which mechanism enables small, unmanaged switches to plug into ports of access switches without risking switch loops?

A. PortFast

B. UDLD

C. Root guard
D. BPDU guard

Answer: D

NEW QUESTION 127
Which two types of planning approaches are used to develop business-driven network designs and to facilitate the design decisions? (Choose two)

A. cost optimization approach

B. strategic planning approach

C. modular approach

D. tactical planning approach

E. business optimization approach

Answer: BD

NEW QUESTION 132

According to the CIA triad principles for network security design, which principle should be priority for a Zero Trust network?

A. requirement for data-in-motion encryption and 2FA authentication

B. requirement for data-at-rest encryption foe user identification within the VPN termination hardware

C. categorization of systems, data, and enterprise BYOD assets that are connected to network zones based on individual privacy needs
D. ensuring that authorized users have high-availability system access from defined zones to defined systems or zones

Answer: A

NEW QUESTION 134
Refer to the exhibit.
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Company XYZ BGP topology is as shown in the diagram. The interface on the LA router connected toward the 10 1.5.0/24 network is faulty and is going up and
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down, which affects the entire routing domain. Which routing technique can the network administrator use so that the rest of the network is not affected by the
flapping issue?

A. The LA administrator should use route aggregation to summarize the 10 1 4.0/24, 10 1 5 0/24, 10.1.6.0/24, and 10 1 7 0/24 networks toward Chicago
B. The LA administrator should use route dampening for the 10.1.5 0/24 network so that it does not get propagated when it flaps up and down.

C. The LA administrator should use route filtering to block the 10.1.5.0/24 network from getting propagated toward Chicago and New York.

D. The Chicago administrator should use route filtering to block the 10.1.5.0/24 network from coming in from the LA router.

Answer: B

NEW QUESTION 139
Which two conditions must be met for EIGRP to maintain an alternate loop-free path to a remote network? (Choose two.)

A. The Reported Distance from a successor is lower than the local Feasible Distance.
B. The Reported Distance from a successor is higher than the local Feasible Distance.
C. The feasibility condition does not need to be met.

D. The Feasible Distance from a successor is lower than the local Reported Distance.
E. A feasible successor must be present.

Answer: AE

NEW QUESTION 143

Company XYZ has two routing domains in their network, EIGRP and OSPF. The company wants to provide full reachability between the two domains by
implementing redistribution on a router running both protocols. They need to design the redistribution in a way that the OSPF routers will see link costs added to
external routes. How must the redistribution strategy be designed for this network?

A. Redistribute using metric type 2 into OSPF.
B. Redistribute using metric type 1 into OSPF.
C. Redistribute using metric type 1 into EIGRP.
D. Redistribute using metric type 2 into EIGRP.

Answer: B

Explanation:
https://www.ciscopress.com/articles/article.asp?p=27573&seqNum=4#:~:text=Routes%20are%20redistributed%

NEW QUESTION 145
An enterprise wants to provide low-cost delivery of network systems that can be scaled on business demand, followed by an initiative to reduce capital expenses
for new IT equipment. Which technology meets these goals'?

A. laaS within a private cloud

B. l[aaS within an on-premises location
C. PaaS within a public cloud

D. SaaS within an on-premises location

Answer: C

NEW QUESTION 147

A customer asks you to perform a high level review of their upcoming WAN refresh for remote sites The review is specially focused on their retail store operations
consisting of 500+ locations connected via mutlipoint IPsec VPN solution. Which routing protocol would be valid but would also be the most restrictive for the
expansion of this deployment model?

A. EIGRP
B. IS-IS
C. OSPF
D. BGP

Answer: B

NEW QUESTION 150
An enterprise solution team is performing an analysis of multilayer architecture and multicontroller SDN solutions for multisite deployments. The analysis focuses
on the ability to run tasks on any controller via a standardized interface. Which requirement addresses this ability on a multicontroller platform?

A. Deploy a root controller to gather a complete network-level view.

B. Use the East-West API to facilitate replication between controllers within a cluster.
C. Build direct physical connectivity between different controllers.

D. Use OpenFlow to implement and adapt new protocols.

Answer: D

NEW QUESTION 155

Which two actions must merchants do to be compliant with the Payment Card Industry Data Security Standard? (Choose two.)
A. conduct risk analyses

B. install firewalls

C. use antivirus software
D. establish monitoring policies
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E. establish risk management policies

Answer: BC

NEW QUESTION 158
Refer to the exhibit.

Data Center Core

Layer 3

FESESE S B EE R R

Layer 2

Your company designed a network to allow server VLANSs to span all access switches in a data center In the design, Layer 3 VLAN interfaces and HSRP are

configured on the aggregation switches Which two features improve STP stability within the network design? (Choose two.)

. BPDU guard on access ports

. BPDU guard on the aggregation switch downlinks toward access switches

. root guard on the aggregation switch downlinks toward access switches

. root guard on access ports

. edge port on access ports

. access switch pairs explicitly determined to be root and backup root bridges

mTmoOO o>

Answer: AE

NEW QUESTION 160

A business customer deploys workloads in the public cloud. Now the customer network faces governance issues with the flow of IT traffic and must ensure the

security of data and intellectual property. Which action helps to identify the issue for further resolution?

A. Set up a secure tunnel from customer routers to ensure that traffic is protected as it travels to the cloud service providers.
B. Send IPFIX telemetry data from customer routers to a centralized collector to identify traffic to cloud service providers

C. Build a zone-based firewall policy on Internet edge firewalls that collects statistics on traffic sent to cloud service providers
D. Apply workload policies that dictate the security requirements to the workloads that are placed in the cloud.

Answer: B

NEW QUESTION 162

IPFIX data collection via standalone IPFIX probes is an alternative to flow collection from routers and switches. Which use case is suitable for using IPFIX probes?\

A. performance monitoring
B. security

C. observation of critical links
D. capacity planning

Answer: A

NEW QUESTION 165

Which three tools are used for ongoing monitoring and maintenance of a voice and video environment? (Choose three.)

A. flow-based analysis to measure bandwidth mix of applications and their flows
B. call management analysis to identify network convergence-related failures

C. call management analysis to identify CAC failures and call quality issues

D. active monitoring via synthetic probes to measure loss, latency, and jitter

E. passive monitoring via synthetic probes to measure loss, latency, and jitter

F. flow-based analysis with PTP time-stamping to measure loss, latency, and jitter

Answer: ACD

NEW QUESTION 170

A company plans to use BFD between its routers to detect a connectivity problem inside the switched network. An IPS is transparently installed between the

switches. Which packets shold the IPS forward for BFD to work under all circumstances?

A. Fragmented packet with the do-not-fragment bit set

B. IP packets with broadcast IP source addresses

C. IP packets with the multicast IP source address

D. IP packet with the multicast IP destination address

E. IP packets with identical source and destination IP addresses
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F. IP packets with the destination IP address 0.0.0.0.

Answer: E

NEW QUESTION 171
Refer to the exhibit.
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ACME Mining has four data centers in Santiago. Cape Town. Mumbai, and Beijing, full-mesh connected via a 400 Mb/s EVP-LAN They want to deploy a new
mission-critical application with these requirements:

> cluster heartbeat 2 Mb/s continuous (250 KB/s)

> cluster heartbeat one-way maximum latency 100 ms
These are the current ping tests results between the four data centers:

Santiago $:£: Mumbai | Beijing
Santiago |- 280ms |378ms [409ms
Cape Town | 280 ms - 185 ms 445 ms
Mumbai 383 ms 176 ms - 443 ms
Beijing 430ms |448ms |(442ms |-

Which hosting data center pair can host the new application?

A. Mumbai and Beijing

B. Santiago and Cape Town
C. Santiago and Mumbai

D. Cape Town and Mumbai
E. Cape Town and Beijing
F. Santiago and Beijing

Answer: D

NEW QUESTION 174
As network designer, which option is your main concern with regards to virtualizing multiple network zones into a single hardware device?

A. Fate sharing

B. CPU resource allocation
C. Congestion control

D. Security

E. Bandwidth allocation

Answer: A

NEW QUESTION 179
The administrator of a small branch office wants to implement the Layer 2 network without running STP The office has some redundant paths Which mechanism
can the administrator use to allow redundancy without creating Layer 2 loops?

A. Use double-sided VPC on both switches
B. Use two port channels as Flex links

C. Use fabric path with ECMP

D. Use 802.3ad link bundling.
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Answer: B

NEW QUESTION 181
Which three Cisco products are used in conjunction with Red Hat to provide an NFVi solution? (Choose three.)

A. Cisco Prime Service Catalog
B. Cisco Open Virtual Switch

C. Cisco Nexus switches

D. Cisco UCS

E. Cisco Open Container Platform
F. Cisco Virtual Network Function

Answer: CDF

NEW QUESTION 184
Which design consideration is valid when you contrast fabricPath and trill?

A. FabricPath uses IS-IS, but TRILL uses VXLAN

B. FabricPath permits active-active FHRP and TRILL support anycast gateway.

C. FabricPath Permits ECMP, but TRILL does not

D. FabricPath permits active-active mode, but TRILL supports only active-standby mode.

Answer: B

NEW QUESTION 185
Company XYZ wants to deploy OSPF. The design plan requires that two OSPF networks be mutually redistributed at multiple locations and ensure end-to-end
connectivity to all of the company's networks Which technology can be used to fulfill the requirements while avoiding the creation of routing loops?

A. Create a virtual link between ASBRs.

B. Change the router ID for both ASBRs.

C. Redistribute routes as external type 2 routes.

D. Use route maps on ASBRs to filter routes with tags so they are not redistributed.

Answer: D

Explanation:
https://www.cisco.com/c/en/us/support/docs/ip/open-shortest-path-first-ospf/4170-ospfprocesses.htmi

NEW QUESTION 190
Which two statements describe network automation and network orchestration? (Choose two.)

A. Network automation does not provide governance or policy management.

B. Network automation spans multiple network services, vendors, and environments.

C. Network orchestration is done through programmatic REST APIs enabling automation across devices and management platforms.
D. Provisioning network services is an example of network automation.

E. Network orchestration is used to run single, low-level tasks without human intervention

Answer: AC

NEW QUESTION 191
Refer to the exhibit.
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This network is running EIGRP as the routing protocol and the internal networks are being advertised in EIGRP. Based on the link speeds, all traffic between
London and Rome is getting propagated via Barcelona and the direct link between London and Rome is not being utilized under normal working circumstances.
The EIGRP design should allow for efficiency in the routing table by minimizing the routes being exchanged. The link between London and Rome should be
utilized for specific routes. Which two steps accomplish this task? (Choose two.)

A. Configure EIGRP route summarization on all the interfaces to summarize the internal LAN routes
B. Filter the routes on the link between London and Barcelona
C. Filter the routes on the link between London and Rome

D. Configure route leaking of summary routes on the link between London and Rome

Answer: AD

NEW QUESTION 194
Refer to the exhibit.

Traffic was equally balanced between Layer 3 links on core switches SW1 and SW2 before an introduction of the new video server in the network. This video
server uses multicast to send video streams to hosts and now one of the links between core switches is over utilized Which design solution solves this issue?

A. Add more links between core switches.

B. Aggregate links Layer 2 link aggregation.

C. Apply a more granular load- balancing method on SW1.
D. Apply a more granular load-balancing method on SW2.
E. Filter IGMP joins on an over -utilized link.

Answer: B

NEW QUESTION 197

A BGP route reflector in the network is taking longer than expected to coverage during large network changes. Troubleshooting shows that the router cannot

handle all the TCP acknowledgements during route updates. Which action can be performed to tune the device performance?

A. Increase the size of the hold queue.

B. Increase the size of the large buffers.

C. Decrease the size of the small buffers.

D. Increase the keepalive timers for each BGP neighbor.

Answer: A
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NEW QUESTION 199
Company XYZ is designing the 1S-IS deployment strategy for their multiarea 1S-IS domain. They want 1S-1S neighbour relationships to be minimized on each

network segment and want to optimize the size of the IS-IS LSDB on each router. Which can design can be used to meet these requirements?

A. Design all routers as Level 2 router
B. Set the links between the routers as Level 1 with the area
C. Design the network so that the routers connecting to other areas are Level 2 routers and internal routers are Level 1

D. Design the network so that all routers are Level 1 routers
E. Design the network so that the routers connecting to other areas are Level 1/Level 2 routers and internal routers are Level 1

Answer: D

NEW QUESTION 202
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